
Parsing Beyond CFG
Earley Recognition for TAG: Example

Laura Kallmeyer, Tatiana Bladier
Sommersemester 2018

The grammar:
α : S

c

β : S

a S*

Input word: ac

Item dotted tree rule

[α, ε, la, 0,−,−, 0, 0]
•S

c
Initialize

[β, ε, la, 0,−,−, 0, 0]
•S

a S*
PredictAdjoinable

[β, ε, lb, 0,−,−, 0, 0] •S

a S*
PredictNoAdj

[β, 1, la, 0,−,−, 0, 0]
S

•a S*
MoveDown

[β, 1, ra, 0,−,−, 1, 0]
S

a• S*
ScanTerm

[β, 2, la, 0,−,−, 1, 0]
S

a •S*
MoveRight

[β, 2, lb, 1,−,−, 1, 0]
S

a •S*
PredictNoAdj

[α, ε, lb, 1,−,−, 1, 0] •S

c
PredictAdjoined

[α, 1, la, 1,−,−, 1, 0]
S

•c
MoveDown

[α, 1, ra, 1,−,−, 2, 0]
S

c•
ScanTerm

[α, ε, rb, 1,−,−, 2, 0]
S•

c
MoveUp

[β, 2, rb, 1, 1, 2, 2, 0]
S

a S*•

CompleteFoot

[β, 2, ra, 0, 1, 2, 2, 0]
S

a S*•
CompleteNode

[β, ε, rb, 0, 1, 2, 2, 0]
S•

a S*
MoveUp

[β, ε, ra, 0, 1, 2, 2, 0]
S•

a S*
CompleteNode

[α, ε, rb, 0,−,−, 2, 1]
S•

c
Adjoin

[α, ε, ra, 0,−,−, 2, 0]
S•

c
CompleteNode


